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1. Bridge works in _________ of the OSI model. 

A. Transport layer  B. Network layer  C. Application layer 

D. Data link layer  E. Work layer 

 

2. Which among the following are specially designed computer chips reside inside other devices, such as 

your car or your electronic thermostat? 

A. Router   B. Mainframes   C. Embedded computers 

D. Cache   E. None of these 

 

3. ‘SIM’ stands for _________ . 

A. Subscriber Identity Module  B. Station Interactive Module 

C. Super Interactive Module   D. Super Identity Module 

E. System Identity Module 

 

4. The ability to recover and read deleted or damaged files from a criminal’s computer is an example of a 

law enforcement specialty called what? 

A. Virus   B. Cyber Crime   C. simulation 

D. computer forensics  E. hacking 

 

5. Which of the following is an examples of Word processing spreadsheet and photo-editing? 

A. System software  B. System hardware  C. application software 

D. platform software  E. None of these 

 

6. What is the base of hexadecimal number system? 

A. 2    B. 9    C. 26 

D. 32    E. 16 

 

7. Red triangle at the top right corner of a cell indicates that _________ . 

A. There is an error in the cell   B. The cell can't accept formula 

C. The cell color is blue   D. There is an error in the text 

E. There is a comment associated with the cell 

 

8. Kernel is a central component of _________ . 

A. An operating system B. A register   C. A Software 

D. A Super Computer  E. A System 

 

9.  _________ is a popular DOS based package. 

A. Power Point  B. Lotus 1-2-3   C. Smart Cell 

D. Paint   E. None of these 

 

10. A hacker that changes or forges information in an electronic resource, is engaging in _________ . 

A. Cyber Crime   B. simulation   C. Sniffing 

D. data diddling  E. None of these 
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11. In case of MS-access, the rows of table corresponds to _________ . 

A. Files    B. Folders   C. Records 

D. Documents   E. Reports 

 

12. A repair for a known software bug, usually available at no charge on the internet, is called a(n) what? 

A. Router   B. patch   C. Antina 

D. FAQ    E. None of these 

 

13. Which of the following is a small group of computers and peripherals linked together in a small 

geographic area? 

A. LAN    B. RAM   C. CAN 

D. ROM   E. WAN 

 

14. Which of the following is an act of CTRL + 9, in Excel? 

A. Zoom In   B. Prints   C. Hides the current row 

D. Shaw the current row E. Insert the row 

 

15. 1 GB = _________ KB. 

A. 128 × 1024   B. 128 × 1024 × 256  C. 1024 

D. 256 × 1024   E. None of these 

 

16. Firewalls are used to protect against _________ . 

A. Virus attacks  B. Hacking   C. Unauthorised attacks 

D. Data-driven attacks E. Cyber attacks 

 

17.  _________ is the most common tool used to restrict access to a computer system. 

A. User logout   B. Access-control software C. User logins 

D. Super Computer  E. Passwords 

 

18. Softcopy is the intangible output, so then what is hardcopy? 

A. The physical output devices  B. The printed output 

C. The physical input devices   D. The printed parts of the computer 

E. None of these 

 

19. The term ‘ENIAC’ stands for what? 
A. Electron Nobility Integrator and Computer 
B. Electronic Numerical Integration Analogue Computer 
C. Electronic Numerical Integration Analogue Computer 
D. Electronic Numerical Integrator and Computer 
E. None of these 
 
20. Which of the following is a main function of the ALU? 

A. monitor all computer activities   B. perform arithmetic and logical operations 

C. control computer output, such as printing  D. control all computer activities 

E. None of these 
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Correct answer: 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 

D C A D C E E A B D C B A C E C E B D B 
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